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~(June)

. H[STQRY
| Core )

. Paper : I_-I_IS'_CA}"Aﬁ

[ History of India—IV (C. 1206-1526) |
. .Full Marks.: 60 - ...
i Fime + 2 hours ...

The ﬁgures in the margm zndwate ﬁ.lﬂ nmrks

1. wwmﬁwaﬁwmmwﬁm _
1x6=6
Answer the followumg questlons 1n one word
or in one sentence each : : o

Who is the author of the book
Padmavat?

b) 8 30 ol ﬁsﬁw 7 |
" Who was the founder of the Khalp o
dynasty? - BRI

P25/1424 ( Turn Over )



(o

(@

fe}

F AL PR,

&g FiRfeer 2

Which forelgn traveller. visited the court
of Muhammad-bin Tughlaq?

B T o e e it 2

Who was the last ruler of the
Lodi dynasty? =~ :

TR Frers e R w7
What was the cap:tal of Bahmam

.-k:ngdﬂm'-’ DR sy da

FEIA FAIH I Wff ﬁiﬁf?@[? |
Who completed the constructmn of the
Qutb Mmar? :

2, 'wﬁzmm eoﬁwss_{cﬁmﬁm (ﬁ ﬁsm_iﬁr)

5x2=10

Wnte short notes on the followmg (any two)

" )

(b}

{c).

{d)

Ww@m

- Rejia Sultang -~ " o

fows @

SikanderLodi® ' SRR T
TR T

Krishadeva Rai . o

¢ Architecture of Stiltani period -

P25/1424

~ { Continued.)

3.

- Discuss the causes of the decline of Bengal -

( 3)

W{ﬁﬁ%ﬂﬁmmww

]

Dlscuss Alberums contnbutmn towards the
historiography of Sultanate period.

W=/ Or
Wﬂﬁ@ﬁﬁ@#@@ﬂ%ﬁﬁﬁ?ﬁﬁ| |

Narrate _briefly about the act1v1hes _ qf

Sultan Htutmish’

“S[l‘l]{?ﬁ mlﬁ;a\s | Cﬂl-’a‘ﬂﬁ-ﬁﬁ'%ﬁiﬂﬂﬁ A RelFe
T S (A R 1”7 Bt gfe Wil war )

“There was no other ruler in medieval India
who was as controversial as Muhamrad-bin
Tughlug.” Justify the statement.

94/ Or

WWW@W@:WWWE{Z@
T 9 | -

Narrate briefly about the causes and
consequences of Taimur’s invasion of India.

TR T TR ACE TR A 3] |
Discuss in brief about the rise of Bahmani
kingdom:.

tﬂ“‘if?a’lf/.Or
TR PRSI S ST FATHZ FLAGAT 9 |

Sultanate.

11

11

11



(4 ’:-

W“ﬁﬂﬂﬁﬁmm ﬁﬁmhﬁrﬁmﬁmﬁm 11

Write about the prime features . of
rIndo Islamlc archltecturc

'WW/OY' “

ﬁ@fﬂaﬂaﬁwﬁmww—mﬁ @*’W‘xﬂﬁ
ORI @S T

-Prepare  a. note on art, a.nd archltecture__ of
Vijayanagar Empire.

*** N
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Total No. of Printed Pages—4
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2025 ..

{ June:)

HISTORY ..
“{Core) -

o Paper ; HISC4B.
" (FRise of Modern West)

Full Marks : 60
Time 2 hours
The ﬁgures in the margm mdlcate ﬁzZI marks
for the questzons Co
1. we ﬁm PTARA TR ﬁm o L. 1x6=6
Answer the followmg questions T B

| (a} ?ﬁﬁ ‘ﬂltﬂﬁﬂ W%W‘T aomasﬁﬁzef

How many American cqlomes were
colonised by the British?

(b) WQWWWﬁSE{%EﬁIW?

What were the followers of Martm
- Luther known as? :

P25/1425 _ { Turn Over )



(o

(d)

(e}

(21

et o

Who were the Huguenots'i’

@ﬁwﬁmﬁﬁmmmﬁﬁﬁf@%?

In which year was the Treaty of
Westphalia mgned?

e’ Wﬁ mf f% ?

What do you mean by the term
‘Abs‘.c»luﬂsrn"p

The Soczal Contract 9,[@?1?@ CFAF (I 7

Who was the -writer of the: book, The
Social Contract?

2. v G TR (R e o) o 5x2=10
Write short notes on (any fwo) : .

- {a)

{b}

W A%
Slavery system -

e Bqw W %ﬂ”&‘l"i’ﬂ

.+ -Restoration of the English monarchy in

©

Ad}.

P25/1425

o England

Waﬁvﬁm

Influx of Am;;_nqap_ silver

Hobbes

( Continued )

PaS/1425

(#)

3. VWS R JERMA WW‘P{{!{
: L

Rcame 411
Analyze the factors leading to- the transmon

“from feuda.hsm to cap1tahsm T

WW/ Or

_?@%ﬁﬂwqﬁﬁms{ﬁ«qﬁmn o

Write bneﬂy about the Scottlsh Agncultural
Revoluhon e

4

Discuss the causes -of the Reformation
movement in Europe.

WA/ Or

AT PR TS G TR FHeEae 4 |

Analyze the role of Oliver Cromwell in the
England Civil War.

&7 I YA PRAFEE WA T 1

Discuss the causes leading to the outbreak of
the Thirty Years’ War.

_ wer/ Or
T Rem «Tgf SHTes 4 |

Describe the background of the Commercial
Revolution.

11

p

. {Tum Over)



¥

(45

6. aFiim T c&msfias o csmi wﬁ@ ?.wsﬁ’f ‘iism

lee an account’ of Frederick: the Great ruler
of Prussia as an et;hghj:gned despot.

 WRIRETe: mm%wwmﬁ@ws

Describe the factors respon31ble for the
outbreak of the American War of

kkk

R W T
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( June ) |

- HISTORY. _ .
“(Core)

Paper: HISC4C
[ History of India.. (1526—1750] ]

FuHMarks 60
., Time’: 2 hours

The figures in the margin indicate full marks
Jor the questions

L R eRaRs S far =0 0 1x6=6
Answer the following questlons '

() Tuzuk-i-Jahangiri T4 Wf‘*ﬁ ﬁm vmﬁa ?

Who was the author . of Tuzuk~1~
Jahangiri?

(b) TR o e 0
_ What was ‘Mansab’?
(o) TR @ s gREme
Who promulgated-Mahzarnama?

P25/1426 (Turn Over )



P25/1426

{d) & T=Em Sl ot =fRfem o
Who built Jama Mas_ud?

(e) m%awaﬁ%mwﬁm

Who was - the  founder of the
independent State of Bengal?

0 W@W*ﬂm% %Wﬁz*ﬁmr
' ars FRfem 7

During the period of which. Mughal ruler
paintings gains special importance?

2. e FiReR B G fer (R GO W8 : 5x2=10
erte shqrt notes on the followmg (a.ny two)

Ardhakathana.ka SR

fc) TSR
Nur Jahan

(d) 'mi’r ﬁm
Pahari pamtmg

( Continied)

5.

(3)

am{ﬂa—waﬁ@a %m fovrem TR
WQW’?WWW| 11

" Discuss about Akbamama and’ Am—z Akban

as a source of medieval Indian history.

war/ or

W@wﬁiﬁﬁms{hmz -

Write briefly about the Ra_lput policy
of Akbar. B

TSR Yo mvnﬁrqsr ﬁﬁam?@,
A 391 4 11

" Why is the age of Shah Jahan known as
' ‘Golden Era’? Discuss. :

e/ Or

mmhmmwwwmﬁmﬁm
5+6=11

Trace the causes and results of the Mughal
war of succession.

Sygmad witeer MR owfeem w10 BagEA
wifisres RS Rever wnfeer 31 '3 “diem 2 11

.Ana.lyze the Deccan policy of Aurangzeb. Can
we say that the Deccan policy of Aurangzeb
was a failure?



(%)

i/ Or
i mﬂﬁw *W?WWWWWI o
Discuss the causes of declme of the Mughal
Emplre ' : B '

6. (I BTN Eaﬂ@ws Wﬁw WW| 11

Examine the features and techniques of
architecture _under- the Mugha.__ls_\. .

_. W%’?T/ Or .
mﬁﬁﬂﬁﬁﬁm«ﬂﬁcﬁ‘mﬁm

Write a note on the Mughal painting,

* Kk
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Total No. of Printed Pages—4 .
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2025
{ June )

HISTORY
{ Core }

Paper : HISC4D
[ History of India—VI (C. 1757-1857} ]

Full Marks : 60

Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

1. 9 RiaRs et Teq @bt ¥ A @bt I e
. 1x6=6
Answer the following questions in one word
or in one sentence each :

(a) = T&R TS W TR wifdsT?

Who was the Nawab of Bengal at the time
of the Battle of Plassey?

(b) TRETS T& T TS RS L2fEE ?

In which year was the Battle of
Wandiwash fought?

P25/1427 - { Turn Over )



{0 (9 TiEE T 33 ST @RI T
WWW%W?

By which Act d1d the East India
Company lose ‘all its administrative
powers?

(d) memmﬁﬁf’@w

Who introduced Ryotwari system
in Madras? '
(e) GG TS oS ool Fom FRIRA 7
Who established the Sanskrlt College at
¢ Varanasi?w
14, @mwmwmw—w © \sﬁa-‘aw
et 2
In which year Was the first railway line
' 'mtroduced in India?

w@mﬁm(ﬁmiﬁ .5><2=10

‘Write Sh_ort_.note_s:_-o;}_'(a_\_ny two)::-

- {a} 97 Iy

P25/1427. .

- Mir Qasun E

(b) @EERR €3, daqe
‘The" RegulatmgAct 1773 S

o A e

Mahalwari Settlement o

@ R A

Doctrine of Lapse _'
{ Continued )

( 3)

3. A JEE S5 TSI Wwﬁmaw

| L 11

Narrate the polltlcal condltlon of lndla before

| the Battle of Plassey

4‘

P25/1427

W?@T/ Or S
W@'@ﬁ?ﬁw ﬁrwﬁ aﬂ‘m ﬁ“ﬂ@% _
Llrctiiies | :
Discuss the role of Robert Chve in the

"foundatlon of Brltlsh Emplre in Indla

wmzf@ ’@1%5 %’*fﬁ@*{ PR zﬂ“—ﬁrq' cmr ?ré
@l‘@mmmwwn ' 11

~ Discuss the contributions of Lord Hastings
" for the consolidation of the British colorual

rule i in India.
o W/ Or

w6 @erRficE 4767 T IO oY R T
T A1 | ST T ARSE (Forp Wil
8+3=11

Write briefly on the ‘Subsidiary Policy’
introduced by Lord Wellesley. What were its
repercussions in India?

59¢4-3r¢q B9 IWIRER 2EE®  HERT
PrmifeTE, R 340 | | 11

Examine the education policies of British
Government during the period of 1757
to 1857.



( 4)

g/ Or
TR MFEY (TS T I T [ [[w@
SCAGA F9 |

Discuss the contributions of Raja Ram
Mohan Roy in the field of social reform.

6. ‘B 28 o @R TS SREY I
IR [rq REey 0 =01 ' 11

Describe the growth of co_mmuhicatic‘m
system in India during the time of British
East India Company.

 HR_T/ Or. :
svaa R Rz RAbe @RR FRPER WS
Discuss the causes of the Revplt of 1857.

* Kk
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2025

| (June)

- ASSAMESE
( Core )

" Paper : ASMC4A
( wﬁm vﬁf?na fe- zFfF )

Fuil Marks : 60

Time : 2 hours -

The figures in the margin indicate full marks
for the questions

S q%@ﬁiﬁ; ' T IXb=Y
() i Bl o SR AR T 7

(%) G| 9B %WW @Wﬁwm
e

(ef) me&mwmﬁé’marwam
: ﬂﬁﬁiﬁ?ﬂﬁ%{?ﬁl

P25/1404 o . (TumOver)
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(<)

(2)

(2N IFIR G4 T FIEAE a9 &t |
2o SO S S T o
SRR et srfferes wr frd

#ﬁﬁrﬁmwﬁmﬂﬁﬁﬂﬁ‘ﬁﬂ“ﬂw »qf%
(BT o o

ST

e ol Re TARS-CORT el
S aﬁwwi@mﬁﬁl

m@gﬁmﬁm@ﬁ%ﬂﬁwﬁwﬁ

«f6 SCEA I8 47 |

=R

ﬁwwﬁmwﬁaweﬁwﬁﬂ“w «ft

| = forsit )

81 (%)

(<)

P25/1404

wﬁmﬁmm-wmmww.%

ey

Wﬂiﬁwﬁ’mﬁm@ﬁ@iﬂww f5
cﬁmﬁm! . _

Y

33

%

" (Continued)

(3)

el.sﬁmﬁﬁ(ﬁ@mim): _ | dXR=dE
(%) et e @
() SwTTR R =5y-nRe |
(s1) Wﬁ?ﬂrwmw@m
(V) oRer feam Rew-nfie
(8) = TRy

LB
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4 SEM FYUGP ASMC4B

2025
( June )
ASSAMESE
( Core )
-Paper : ASMC4B
( _HEI?T W 'rﬁww ﬁm )

Full Marks 60
. Time 2 hours

The ﬁgures in the margin indicate full marks
. Jor. the quesﬁons .

3 Bﬁ?@ﬁﬁm(ﬁ @AY S axume

(=) WW%&W@’EW@W

_...(_:‘3_1_)__ “‘J\W mmmaﬁ?ﬁr? o

(%) ﬂﬁﬁrwmﬁmwm?

P25/1405 { mm:ov_er)



o2

(8) WW%W%?
(5) Wwwmm?
(®) "0y 97 @m“méﬁm

(&) il —NEBI w-@ﬁa W‘@w (T
BIRIER iR t

M(@)WWWWWW‘EW
o« Ry yo

: W

(= Wmﬁﬁhmﬁmmﬁw
ﬁmn%ﬁﬂ: |

Y wﬁmﬁamw(ﬁmmﬁm) ©x8=93

=) w@iﬁm W@@% @y mﬁw e

(w) W’Iﬁ'@ﬁnﬁ@?{ TR

PRI |
wmwﬁf@ﬁwwmmﬂwmn

(o) WR&W\WWW\MW

)

-

(%)

81 (F)

(<)

el (3

(<)

(3)

mwwww%ﬁﬁr@@r@@mm:'
GREE E— @ @, azzsra-csnmfar
TN N AT ¢ .

4% RO @ SeETmE-sfes 1+
ST NS wfiﬂﬁa-csnm T

8 TR, FRIORCA (FITIS FEI |
Wﬁﬁ‘iwﬁ\wmmw

Pt i Remregafz
s 11 il |
A ¢on Ay

ST TR TER ||

' ﬁl‘éﬁ_l S0

Y
o SO e SR R R
oft Brm it |
W SR WREENH dOl TN IR
feferred R ofs e g =<1 33
 wemy |
“Nfe S eI CafEnTeR fordt |

S (Tum Over)



(4)

Y1 (F) TH-SRBE wHeR I QARA? TI-SFOY

SIS \ﬂﬁl\!)li\ﬁi Eil*@]"lip fgﬁ'[ b §+b-=).o
 ug -
(%) WWWWWH{QW&&E
ﬂﬁsaw cﬁmﬁml R so
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‘ 2025
( June )
ASSAMESE
( Core )
Pap_erj _:_ASMC"_rC .
(Wﬁﬂ?ﬁ‘l)

Full Marks : 60
T!me 2 hours

The ﬁgures in the margzn mdwate _full marks
for the quiestions

T U T e

(%) TTESAR WS A I R ST
iﬁﬁm?

(#j ‘w%’rﬁ-zw CiEc] ?ﬂ—q' j@w Erarid 'nﬁm
ﬁ’aw%miﬁﬁf%{

P25/1406 . (Tum Quer)



t2)

(@) oo S T R o SRR 7
(9) ﬂﬁﬁwc@aawmjﬁwmﬁm
(%) qumwmmﬁw

(®) [w STORR MRS wwEE KT A w0
 mRAN R

3| wim IReE IRIBF RTIE @/ wors s
FT AR wE B B2 W R @ @G oA
Wﬁ?ﬁqﬂ“ﬂﬁaﬁwmw| 3+s0=33

ol (I) mm’mmmﬁawaﬁ@m
_wﬁﬁcrsmﬁ—imwzﬁn-' sy

(}) (@NE AW W%%ﬂw R
x IR SRS *RIEI II-2ifse ﬂ“ﬂaﬁ
] aﬁmqmwz L
81 (as) mﬁawﬁ@rwmwwmﬁn 53

(R) <gH Gl “Tfi?FW WWW
o 3R @l wIamar SeRsET |-

P25/1406 . . : { Continued }

{3)

¢\ (%) R oY ARvy SpREE P PLE ;B oR
GRS FREI R R SRR |

8+b=3d3
2y

(4) PR T ‘oA T8RS Reghe
WWWWWW! 3

v | 54 G Bl (R o abt) @ . @
(F) 2R T IRS
) o st 9T
(1) e IR FE

L
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2025
( June )

ASSAMESE
( Core )
Paper : ASMCAD .
( Introduction to Linguistics }
Fult Marks ; 60
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions.

s1 () WWW?W'W%WW

Afb SCETH SRR I Q+30=33
_ _ KRSl _
{9 Eii@ﬁ"ﬁ _ o \Q+\'a=>§ .
Sl i .

Syt e Teem

P25/1407: . . .. (TumOver) -
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(2)

sHidwy cw FdET IR SR s

WP eEiRwns & & wme o 9 ixE, _

HqES FKI 1 O+O+Y0=3Y
ey

S 1N SRy '

R AR

o 7 AWRER aIREHE R

A 91 : O+ O+30=3%
_ LA |
o G e br=dY
> TSy ‘
1 ey
AP Yoo SRTe SRSt Tord ofb SEE
9 Y
2T

WGW&:WW@%'W%%?& '
maﬁmﬁmwﬁu 3+r=30

P25/1407 ' {Continued }

(3)

€| e TR XY=y

(@) *omrs TR wweR ARy m.”asw_
TS 2

(}) MRy TRRIEE TR {ﬁ?ﬁﬁﬁ m‘mﬁ
e 1 @t Cafem 2

(o) oy emfiwEs. ‘aRE SEIRkeERT 3R
sfefRe a4 = ?

) «ﬁﬁwmwﬁwww
=7

(8) o TR GRRT P {5 2

(5) ‘Linguistic Survey of India’ A¥F axafR
4T FW? : '

% e
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2025
(Jurfe )

POLITICAL SCIENCE
~ { Core )

Paper PSCC4A -

( Introduction to. Compatatwe Government
and Politics )

Full Marks : 60
T_ime " 2 hours

The figures in the margin indicate full marks
for the questions .

1. o6 e ot @ Yes fom 1x6=6
Answer the following as directed : '
@) TR wEAe Prg @ IR =i
FA=W?
.. Who is con31dered as _the father of
_ comparative politics?

(b) ERF TEAET  Boewa . R EJTCQ
(> [/ 59/ _}oo)} o o
| | (%mmﬁ%ﬁf@)
- The total number of members in the US
Senate is (81 / 93 / 100}.
S _( Choose the correct answer )
© R P—az—w © oS R a@ (@m /
o wwﬁ?ﬂa /s ST ) |
(@%WW@W@)

P25/1542 _ ) { Turn Over )



(2) | (3)

The oldest Constitution in the world is O TR TES el : (2 goo e foeTe) |

of (Britain / USA / India). : Answer the following queestions (within 400 words
{ Choose the correct answer ) each) : :

P25/1542

(d) e oo @rr Ao R cror @i
ifee 7
Who was the leader of the Cultural
Revolution of China?

fe) EREY T Ficwrew! Tofic-ReE®@ Sarsm
& TRy - (o G <o farey )

Indian War of Independence is an
example of anti-colonial struggle.
{ Write True or False )

{f) The. Communist Man;festo CICI caoie)

I feREE ¢

Who wrote the book, The Communrsr _

Manifesto?

2. TS AT eofwe 5 il Bt (R so0
ﬁ:@’@) ' 3x3=9

Write short notes on ‘the fol]omng {within
100 words each) :

fa) 71 BT 2 97 CafiEPTTR

New Institutionalism : Basic
characteristic features

(b) - wER w%m T R R
e
- Judicial review of the US Supreme Court
(e} B reafeT wewE 1 g

. Principal features of Chinese political
system.

(..Contihued )

@ Ry P goreR aefifer ol W
fPe w5 RIS [y ScEe e

Examine the changing nature and scope of
comparative politics after World War II.

T/ Or

Hocart SR TAEAE '«Wﬁ’rﬁww TS
WWWW’I@WPWWr -

What kinds of challenge have been posed by
Eurocentrism to the Study of comparatlve
politics? Discuss

cﬁwqwﬁvmwﬁawﬁew
cma%ﬂwqmcﬂami%—ﬁwvwm

F| 2+7=0

Define globalization Do you agree that it has
affected the nature of State in recent times?
Discuss. :

%9/ -OF
WWWWWWW
T 4T |

Discuss the rise and fall of soc1ahsm in

" Soviet Union.

AT B I B S SR e
SIS SSROTYE WA 74T |

Discuss the impact of - colonialism with

-reference to any one colony in Asia. -
P25/1542 -

- { Tum O've-r"'}



(4)

WW /. Or
%’vfﬁ@w -Ree® wRwE ﬂff “RinEs e
ST 997 | .
Explain the major stages of anti-colonial
. -struggle.
6. ‘@‘ﬁ?sﬁwt@:ﬁeﬁﬁawwﬁﬁﬁw
S S 177 S _ -9

“British Parliament is a un1que amalgamatlon
of progressive and conservative forces.”
Dlscuss .

W/Or'
PR IFARE W [t ﬁmﬂ% W“I e
FREA o F4 |

Compare and. contrast t_he po_wers - and
functions of the USA President and British

_ Prime Minister. '

7. ‘“qfice crdune SR xR fore e |
R’ @WWWWW@W-
fcs el 90 o 9
“Brazil has emerged as the major economic -
power in the recent years.” Discuss the

- political economy of Brazil in light of th1s
statement.

' . ! / Or -
?ﬂ‘mﬁi‘m AT TWER e ﬂﬂﬁﬁi PICT
R e R SRce, WA F1
Discuss how military rule has Impacted on
p011t1ca1 system of N1ger1a :
B : Cwkk . . _
-PQ_.S_'—.QOOO / 1542 4 SEM FYUGP PSCC4A



Total No. of Printed Pages—4
4 SEM FYUGP PSCC4B

2025

( June )

POLITICAL SCIENCE
_ ( Core )
_ Paper PSCC4B _
( Introduction to Public Administration )
Full Marks : 60
Time : 2 hours
The figures in the margin indicate full marks
" for the. Quésﬁans
1. TS ARIEe T e ﬁ"i‘ﬂ/@ﬁ T ?IT@E Sferaar -
1x6=6
‘Answer/choose the correct answer from the
following : o

{a) Introduction fo the Study  of Pubiic
Administration W¥{ MRYR ENF ‘CQ_C‘P_\
<, 5. ARG/ TR/ wew |
The. book, Introduction to the Study of
Public Administration is written by L. D.
'Whlte / W1110ughby / Simon.

b ‘Administration’ A (T EQDT (.F'Tﬁ?*' =R
IR R R i
From which two Latin Words has the
. word ‘Administration’ been derived?

P25/1543 - " (Turn Over)



P25/1543"

b2y

fc)  “Scientific management’ T ST (T

TR FRfEET 2

Who first used the term ‘Scientific

rna:nz:\gement"p

() ‘oreR SRy ﬂﬁtﬂ ﬁ" ?j}ﬁm ?
What do you mean by ‘needs hierarchy™?

.{e)_@ﬁﬁaﬁ@maﬁﬁﬁ@ﬁmw

BRI :
Mention any one charaetenstlc of public
pohcy

(N W -2 AR Eliw\gﬂw ﬁﬁ TEH ?
What is the feminist perspective of
pubhc admlmstrat.lon?

Wﬁmﬁﬁmemwcﬁmﬁﬁr(m o

e foeve) : . 3x3=9

Write short notes on the followmg (w1th1n

' 150 words each)

{a) GIRIE] e POSDCORB 371@
Luther Gulick’s POSDCORE . mew

(b)  PTTS e-e W]TW

Problems of people’s partml{patmn in
administration ' '

Features ‘of new public ‘management

( Continued )

(3)

T i 2reaeE Tee R (2B oo W e |

‘Answer the following questmns {within 500 words

each) :

3.

WWW W@IWWMW

39 | C 2+7=9

Discuss the meaning, definition and scope of

Public Admlnlstratlon

93/ Or _
WKl W (-5 e e mfwm
S F 0
Make a d:stmctmn between Pubhc and

Private Administration.

R o T
FESKISIC G i i ST
Critically evaluate Taylors contribution :to
the theory of scientific management.

9/ Or

cw @W mﬁm SOl wed. R AT
9 .
Discuss Max Webers bureaucratlc theory of
orgamzatmn

5. Ptm geeree ‘:@w i Em—r mmzbm ﬁm
HCETAl 9917
Discuss ‘the concept of innovation - .é.nd

~ entrepreneurship - as propounded by
Peter Drucker. .
o Turn Over)
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(4)

S/ Or

(@ WERE oo W, Riggs¥ ARG
RSN A e w4

Discuss the ecological approach of F. W
Riggs to the study of Public Admmlstratlon

e w Wi Wﬁm-wmwr '

Discuss the meaning and signiﬁcénce“'_of :
public policy. '

oI/ Or

.WWW%WWWWI

Discuss the modes of people’s part1c1pat10n
111 admlmstratlon

'ﬁWW#WWWWWl

Write the meanmg and characterlstlcs of
good governance. - : '

o | W/Or
-2 T (RO RS Ry el

Eal

‘Discuss the new public service approach of .

Pubhc Admmlstratlon

. W okek

9

4 SEM FYUGP PSCC4B



Total No. of Printed Pagés—4 |
~ 4 SEM FYUGP PSCC4C-

2028
:_.( June )

POLITICAL SCIENCE o
( Core )
 Paper : PSCCAC - |
( Political Process in India )
Pull M’arks 60

T:me 2 hours - .

- The ﬁgures in the margin indicate ﬂdl marks
for the guestions o

1. Wﬁmﬂ{ﬁﬁwﬂﬂﬁtmm 1x6=6

Answer the follomng as dlrected

fa) SRS ‘ﬁmw w’a eﬁs "“@mwm
Zﬁf‘ﬁlﬁmﬂ -

- ‘Write - 'onhe . notable: " feature: - of :the
- Congress system in India. = -

() DMKaﬂﬂﬁjfwz%rﬁm_ -
Write the full form of DMK o

{c HT‘WI@W%M
] (wﬁ;w‘/%‘w/—m)
(wmmﬁztﬁmﬁtéﬁfvﬁw)

P25/1544 - (Tun Over)



{2)

S

The basis of communalism is

{-caste / religion / gender /

language }
{ Fill in the blank by choosing
the correct answer )
(d) SFERE TR o/ 4 T
TRy Ryen Sy e
Which Part of the Indian Constitution
deals with ‘reservation. provision’?

(e} ﬁﬁ@w%@ww%wqﬁm

Mention ‘one’ example of linguistic
regionalism,

mwmmmwmmwﬁ‘

P25/1544

e 9

In which. year - was the National

Comrmssnon for Women set up in Indla? -

2.__TW{G‘SWE§CBT¢IW

Write short notes on the followmg

{a) SR TS 7@ B w7 ﬁm?ﬁw |

Relevance of AGP as a regionial political
(b) TEAT eff%s-%m aﬂacﬂ .
Concept of pollt;tcaj moblhzatlon '

" Four reasons of reglonal unbalances in
~ India’ - : =

=

( Continued

3.

P25/1544

(3)

| IRETHR W A [ AR, SHCAH 4 |

Discitss the major features of party system

“in India. -

%]t/ Or

Write a cntxcal note on the recent trends in'

Indian party system.

mewwﬁmi.hﬁm—ﬁwqﬁﬁw
Wmﬂw%@ﬁﬂmmw

= S 247=9

Define voting behaviour. Discuss the 'shOrt—
term and long-term determinants of votmg
‘behaviour, : .

Y=Y/ Or

eREE TR AR wﬁﬁf\?ﬁﬁ 'ﬂ‘%‘)‘ﬁﬁ/.@

sfeierer e Roaa st

" Examine the role of caste- based moblhzanon

in Indian electoral politics;-

ﬁﬁemﬁcmﬁwmﬁmm

'W@WWW:

Dlscuss the problem of secessmmsm m the

context of North-East India.
' Y /Or..

'“Tﬁ@ WWWWWWW

WWWWWW‘I
901

- { Turn Over )



%)

Exatnine’ the *factors ~ contfibutitig ‘to the *

_rise of regionalism in India with spemal.
reference to linguistic, cultural and econ,omlc
dlspantles

_W«WW@R@*«WWW| |
oo 2T=9

Deﬁne the concept of secularlsm Dlscuss
- the:.challenges it faces in Ind,la

N W/ Or: .. .
‘Frzr&‘a wﬁrﬁ— wrﬁwmﬁ ﬁ@ﬁ ’1""!3*
ey 9

‘Discuss the - 1mpact of communallsm 111
Indian politics. Ce e

7. S@S. I eﬁsf%? @IS - ﬁ‘sma Al ﬂ*’mﬁ'
| TACABGS GO FAL 9
: Critically . _evaluate -, ‘the . impacts . -of

globahzatmn on the nature of Indian State,

. L w8/ O
“nﬂwcr mﬁ-’a —ﬁw Wf% e Wﬁw
owgs A TR ﬁ@mﬁw aﬁm " 413 I
"“ LR T
“Reservation system in- India has impacted
women’s. participation in pohucs _and
""soc1ety Justlfy the 'atatement e

* & %k

‘P25-_9000/ 1544 4 SEM FYUGP Bs¢cac



Total No. of Printed Pages—4 .
| 4 SEM FYUGP PSCCAD

2025

(June]

POLITICAL SCIENCE
{ Core b

'Paper : PSCC4D

( Political "I‘-h_eorMoncep'ts and Debates )
- Full Marks'_:_ﬁo o
Time : 2 hours

The ﬁgures in the margm indicate full marks
' for the questions =~

1, ©9E PREQ T gt - - . 1x6=6

Answer the following questions:

() ‘e frm fem R TF TR SRS
LI 1 2 T T 7 B
“Over himself, over his own body and
mind, the  individual is sovereign.”
Whose statement is this? . -

(b) Anarchy, State, And Utopia gﬁ‘ﬁ'ﬁi 2R

" Who wrotc the, ' Bobk"tiﬂéd_,_ "Aharchy,
- State, And Utopida? -

P25/1545 . {TumOver).



{2)

fo e e 52

What is affirmative action?

(@) AR e < T
| Give an example of formal equality.
(e) UDHRF 7= i1 foran |
Write the full form of UDHR,

17 B T 1 B | IR 10 R £ ) B o
HISRGIREE 7

Who advanced ‘the coneept ‘Clash of
Civilization’?.

2. WWGWW@WW (2RT S00 @
foe1e) « 3x3=9

© Write short notes on the following (within
100 words cach) :

o) T A T fane vowet

Freedom as developrnent '

(b). ﬁwm ;m_zﬁ Zaﬁﬁ‘z
. Features of distributive justice -

(@ s df e |
Challenges to the Sovere:gnty of the
State

P25/1845  {Continued )

(3)

T IRy T ferg (ﬁﬁi%r goo »w fooge) ;-

Answer the following questions (within 400 words
each) :

3.

P25/1545.

mmwmﬁwwwﬁ@ﬁ-quw

R AES AT PR AL S 346=9

Define liberty., Discuss ' the - differences

. between Negative and Positive concept of

liberty.
2 / Or
WWWWWW TR FAN

Explam the relatlonshlp between Law and
leerty

e % 7 e Rien damemE WCA T 247=9

What is eq‘u.ahty'D DISCUSS about vanous
kinds of equality. :

W/Or"

TSR HE R WWW WW‘G{J

QI 41 |

" Examine the notion of 'equaiity in the light of

Egalitarianism and Differential treatment. .

T QT A CGLHT I ARSI o T |

-Cntleaﬂy examine John Rawls theory ‘of

justice. 7 o+

W/Or

ﬁwww@ﬁ@www@ﬁ%

AP AT T |

9

(. Turr: Over ).



Discuss the  basic differences. between -
Procedural and Substantive justice. .

6. AT wiRems Mfm wWigemz Rowa w40
e Wﬁw Gk Wﬂw R/ e
L omg o . _  6+3=0
“ Analyze the basic featurés of natural rights.
How -are Natural rights different - from
Moral rights? o
w% /Or
o erer R BRI TR SR SRE 29 |
ol serrs wfi?mﬂ{@ AT Fréadie 3 '3
e 2 T 6+3=9
‘Discuss - briefly - the concept  of . three- :
~generation of Human Rights. Is it correct

to say that these three- generatmn of rlghts
are mutually dependent”

7..WWWWWWW%
frerrR fure w4 | | 9

-Identify ' the different facets of ..'relations-hip
between State and Political obligation.- -

W/Or N

‘“"’?i@“ W"”%W W‘ﬂm ﬁ%’ qw
SRR AL g SR @ SR ) 9

Examine how the concept of -cultural
relativism challenges the umversahsm of .
Human nghts L

7k ok
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Total No. of Printed Pages—7
4 SEM FYUGP ECOC4A
2025
e June )
0 ECONOMICS
( Core )
-+ - - Paper: ECOIC4A. B
1 Intermediate Microeconomics )
- Fult Marks: 60
Time 2 hours *
The figures in the margm indicate full marks
' . for the questions _
1. e frgass ot/ T f : - 1x4=4
Answer the following as directed : "
(@) FreTs G Te Qe
. "What is an indifference curve?

(b} TSGR TEIIR AIPT AITT TGOl F1eq T
The revealed preference the_ory_ of
consumer’s behaviour is based on

(i) IS Spa e TS
consistency

P25/15638 _ - { Turn Over )




-a W@ . . !
(“’W- _ W B R w—ﬁﬂmﬁaﬁ@msﬁﬁﬁewqmﬁm
strong ordering . 4x4=16

(i) SRR e WY RN @RS ' ' - © . . Write " short notes on any four of the
N : T followmg : :
positive income elasticity of demand

(iv) ST TR | o ) S "
- (% Seahaf Et%‘rsm) -

~ (Choose the correct answer ) ) > 1

- Expansmn path

(e e G o - o 'wﬁwﬁwarm&mﬁzﬁmm—

. - [ - H :
Th_e slope of the lsoqpant line is - Economlc proﬁt vs Accountmg proﬁt -

(). <A TR AR T

Social cost of rnonopoly power

{i) MR’I‘SL

(i) MRTS.L,I.{‘Z___' S @ 'Wﬁww
R S e : - Oligopoly

(wmmﬁ@ﬁw) | 3. (@) Semfrer ifeesa yfeea R qme B e
" { Choose the. correct answer ) _ O % ISIEE W% W‘WE@T ‘@f’ﬁf ﬁ‘r’q

o L S TG .. 2+6-8
(d) W—@Tﬁl“ﬁﬁﬁ‘ﬁq‘ﬁ?“ AP | L What . do you ' mea.n by utility
: ' : L .Igmaxlmmauon'D Graphlcally explam the.
- concept of -utility maximization in case

What is peak-load pricing? -
: e of two goods.

p2-5/1533-' ' (Cominued.-) . p25/1538 - e -.(m-m-o@-)




4.

(b

{a)

(b

P25/1538 .

(4)

9§/ Or

%ofrﬁrawwwwwfféwﬂfm

SRIRSINIE SN . 4+4=8

Explain the ordinary and compensated
demand curves with the help of suitable
diagrams. '

IF FERT OTHRATd ETe  OF SRR
2ARSHF S B T, % ARaGT=E W, e P
T OHE AT T WM I SR TR
W@WWW’WW|

' Explaln the average fixed cost, dverage
_variable: cost; -average. total cost and
. marginal cost of a firm with the help of a
hypothetical example. Draw the relevant .

curves with your comments., =

oY/ Or

"%«»nmw fr afow m ﬁﬁa@% e

WW%CWW%‘QWW

'ﬁﬁﬁwﬁﬁw%@wm@]wﬁ@w
'ﬁ;awﬁm %Q’W??ﬁ'q"? qui

2+2+2+2=8

2+4+2=8

{ Continued )

{a

(5)

- What is a production function? What

are the three stages of the short-run
production function when one variable
input is used? Under which stage of
production, the rational producer will

~ produce? Give reasons.’

14%&‘1@@?@%&%%@%
I SEPS] a3 1 v et

”3_'@:4—@%&%@%&%@@%%

WWWWW? 6+2=8

Discuss the short-run equﬂ1br1um of a

firm under perfect competmon Why a
' ﬁrm under perfect competltlon cannot

earn supemorma.l proﬁt in the

W/ Or

-'qu mw@aa— R5d *wwr ﬁ'l%ﬁm*ﬁ{f ”

HA WF YIRS MHEEN IE W

G SR A I e

Draw and-explain -the long-run market

- . supply curve :with the entry and exit of

p25/i538

firms under perfect competition.

" {Turn Over )



P25/1538. -

"

(6

aw%gm-er%ﬁmmﬁﬁ*%ﬁmwﬁm

G %qﬂmﬁmvﬁ%@wﬁm
-fﬁmwwr B : 246=8

De_ﬁne exce;ss capacity of a firm. Explain
excess capacity of a firm with the help of
a diagram. '

- ge|r/ Or

wﬁrﬁwr%vwﬁrﬁzquwm

_ﬁmwwtaﬁmﬁa‘maﬁf@mw
TR IV 2+6=8
_Whaf is .pri.ce.d'iscrimiﬁat.ioh?. Explain,
'_'W1th the help of a diagram, the price

and output determmatlon in a price-

' dlscrlmmatmg monopoly

(@)

e ol B9 ﬂfc‘ﬁ%ﬁ 3 Seomy e

GO T %wm ﬁw (AR

. 912]"@5? o 4+4=8

What is Courhb_i: mbdel? How does the
: -ou-tput;:;decisibn-in Cournot model differ
. from the output decision in a: monopoly?

- { Continued) P25—6000/1538

(7))

wY ) Or

() I P B ogwmr R Rem-Ri

FEHFR S 7 1 Tedm R obr B

TR 7 A | . 2+6=8

What do you understand by cartel?
Explain, with the help of a diagram, the
price and output determination under
market-sharing cartel.

Jr e ok
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Tota.l No. of Printed Pages———'? _
4 SEM FYUGP ECOC4B

2025
'('.;Juri:e__} o

ECONOMICS

Paper : ECOC4B
{ Ecohomy of Assam ) -

Full Marks ; 60

Time : 2 hours |

The Sigures in the margin md:cate Jull marks
for the quesnons '

1. Wﬁmﬁﬁmﬁﬁm S 1x%6=6

Answer the follmmng as d1rected

(a) C"li O WEHI%% SR Wﬁﬁ @?ﬂfb‘i qe3
. SPTE. . A T BesTe SRR q9e
ORTRE? - -
Which sector is the largest contributor -
to the  Gross State Domestic Product
'(GSDP) of Assam actording to the latest
€Ccononic survey9

P25/1539 . (Turn Over)



( 2_:_)___ o | (3

(b) TS K fme weReER YR W

ot | , fe} 2025-26 %9 JMEE ICHHI WO SPER TH
Lo ' ' WW ﬁmmﬂﬁw

Name the sector which contributes to :

the highest employment generation in . What is the major source Of total

Assam. L - . : revenue receipts according te the

. Assam’s Annual Budget, 2025<267
(c) 67 (TR ‘CTR @ 3 @ 2y 9 :

Which of the. following is known as ' (f} ofere o W %ﬂ?{ﬁ oY, 2024-25 e
golden ﬁbre’? . : Wq .
: ) What is the per caplta income of Assam
Eri B - at current prices for the year 2024-25?
) . L
Muga
o o = | 2. Tﬁﬂmmﬁmﬁﬁﬁﬁems{cﬁmw |
(i) TS - o 4x3=12
Jute Write short notes on Jany. three of the
. : f )
(i) T ollowing :
Cotton e
) IR TR .
(m‘@mﬁaﬁ%ﬁr\m) @ o _
(Choose the correct answer ) I Mineral resources of Assam =

(d} mewmiﬁmm?

{b) ':ﬁ%f ﬁ'qu:f
Whlch place is known as Manchester of e :
Assam? _ o : - Agrlcultural marketlng

P25/1839 . {Continueéd | -P25,-/-1__539-- o _ | ( Turn Over)



P25/1539 -

IZ)

(d)

(a)

(b).

(4)

PR 3be fre

Cottage industries of Assam

ot Do gz

- Educational infrastiucture of Assam

ﬁa@%??ﬁz@wﬁwwﬁwm
'Wﬁﬂwmﬁmﬁwﬁﬁm: 2+6=8

What is unemployment? Is there any
relationship between poverty and

- unemployment? Answer in the context

of Assam.
| W/ Or

T SR ROHIER R 5 TR SR
mwmmwwﬁv

ST FTL - 4+4=8

What are the indicators of human

development? Is there interdistrict
disparity in human development in
Assam? Discuss. - - - -

{ Continued }

(5)

4. (a.) S PRI YA AT SEPIPIR. S

(b)

(a)

SFM AR TOIPER. SHYER AR IRIRE
TIPS, BI3RCGTRN | - 5+4=9

Discuss the problems of agriculture in
Assam.  Suggest some. - practical
solutions to solve these problems.

wa/or
FrEy FRPE 7 Ee @eie gET
IR &2 FRA ili| W e e

PR SR 91 T, I o | 5+4=9

What' is - sustainable agriculture?
Explain how sustainable agriculture be
adopted and made commert:lally viable
in Assam. -

T ’Wm 499 SR w ‘ffWﬁ e
TN F9
Explain the prospects and problems of

© industry sector in Assam.

e

P25/1539

w1/ Or
W@@WWW@%HWWi

Write a brief note on major mdustnes of
Assam.

{ Tu.m Over )



(6]}

6. {a} T TPTR ATOAS W I R

Raga 3o 41 | gie wafee Rers wa @&
ﬁw%emv mww«ﬁm 6+3=9

- - Explain . the present state of transport

(b)

7.

(a)

P25/1539 .

.and communication facilities in Assam.

Are these facilities adequate to bring
about rapid economic growth? Give your
comment.

W‘W /Or

e e SRR R w4
-ﬁﬁsﬁ’rﬁwmﬁmwwn 9

Expla.m the various ...pollcles. and
programmes adopted by the government

for mfrastructural development of

Assam.

TP FAET W www~w ic

fRfem %wwqa S acfm 0 4+4=8
Expla.m ‘the various . revenue | and
non- revenue sources of ) A_ssam’s'
“cddriomy A
{ Continued )

P25--6000/1539

{7)

T/ Or

(b} 2024-25 Ry T WoR @vive PR {
SR ITRE] A 4 RE S 39 |

Discuss about the public expenditure
pattern of Assam on the basis of
2024-25 budget

* k%

8
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Total No. of Printed Pages—8 -
_4 SEM FYUGP ECOC4C

2025
_ ( June )
-ECONQMICS
{ Core )
Paper : ECOC4C
{ Statistical Methods for Economics )
- Pull Marks : 60

Time : 2 hours

The figures in the margin indicate full marks
for the questwns

1. wore Faare e Tewh AR I 1x6=6
Choose the correct answer of the folloWing : |
(o) T (FIRD R q7TF AR =R

‘Which of the following is not a measure
. of central tendency?'
{1) IS _
_ ‘Mean
@) Jw=
- Median ..
Standard dev:atlon
fiv) T
Mode

P25/1540 | - ( Turn Over ) -



(b)

{c)

(d)

P25/1540

(2)

qoT AR AR N B FARR
WA TR /T 5 '
The sum of the probabilities of all

possible. outcomes  of a random
experiment is always

fe/o0
Cfi) s /1
(i) o WIF YT AHS / Between 0 a.nd 1

fiv) > O3 HeT / More than 1
W% W s A We B ¥l o, (0E
P(ANBR YR %3
If two events A and B are independent,
then P(ANnB) is given by
) PA+PB)
(@} P{A})xP{B)
(ii) P(4) / P(B)
(iv) P{A|B)
TR T T [ IReme ﬂ%r Re=1 “fG"

WWW&WW@WWWGI
T[T 2

- Which probability distribution is'uséd to

model the number of rare events

occurring in a fixed interval of time or -

space?

(i} Taom faeqe

Binomial distribution h

{ Continued )

‘e

P25/1540

(3)

(i) wrféasﬁwr :

Normal distribution
fifi} -ofEs R=re I

Poisson dlstnbutmn

() T s T

. None of the. above .
<1 > G ST i ﬁﬁ% RO
& v =
In a simple linear regression model, the
dependent variable is also called
() SRTAeR o .
predictor vanable
(i) - efShean o '
response variable
fit) ¥oq vTF |

' independent variable ¢

- fiv) w@RE

resu:lual

wmzﬁw’m’i‘iﬁww

| WWWWW'?

Which of the foIlowxng correlation
coefficients ' indicdtes the stmng_est
linear relatlonshjp " between two
variables? : '

() o/ 05

fii) —o> / 09

Cfiii) ov /08

(iv) 00 [ ~0:3

( Thirh Over )



(4)

2. Eﬁﬁ:mwﬁgﬁvﬁrﬁ ama1fﬁﬁm 2pe Tl famn
4x3=12
Answer any three of the fo]lowmg guestions ;

fg) = 2R a%r-ma mﬁmﬂa mﬁﬁﬁ T
9

~ Explain the properties of a good

" measure of central’ tendency '

gay.@a@ﬁar@%mgﬁanaaamemmaawr
-+10, 15, 20; 25,30, 35, 40"
Calculate the median for the following
data : S '

10, 15, 20, 25, 30, 35, 40

ny.-frﬁ%¢ ﬁrwwa‘wﬁamamqi ﬁsf%v EX)E|

What are the assumptions"of the normal
distribution? Explain its properties.

(d) TR LS. TRITE W TR

. *’ﬂ*ﬁﬂ{@ﬁ{ﬁ{?ﬁl _ .

Differentiate between correlatmn and
regression Wlt—h examples

3. (o) o fapfem swer g1 ya ﬁyﬁa [ 2
(TS 9T 7 . . 3
Define mean dewaﬂon How-.is it
different from standard deviation?

P25 /1540 _ : { Continued )

{b)

@

(&)

%T@%f_ﬁmﬁﬁﬂﬁ‘@mﬁﬂWT#ﬁﬂﬁ1ﬂﬁm_a
Expl_at_n the _cancept- of : -;sk_ewn_qss_ with a
suitable diagram.

&G ﬂ%ﬂﬁ* 5w Eﬂﬁ\ﬁr'ﬁWTﬂﬂﬁ'fﬂ

40, 50, 60, 70, 80. ol e Rpfe

"ﬁmm¢w|"

(a)

(b}

()

The marks obta.med by 5 students ina
test are 40, 50, 60, 70, 80. CaIculate the

standard dev1at10n

WW/ Or

.ﬁg@ﬁﬁ&ﬁqwﬁﬂm3§ﬂ%5$°©maaﬁm1

What - are: the differént types of
measures of dispersion9 Give examples.

ﬂﬁwaﬂﬁmmM“qﬁﬁﬁawwwﬁw—wvwawm
1

Explain' the significance of \-the‘_ concept
of kurtosis in statistical ,'ahalgi'sis.

-ﬁﬁr'ﬁNIwwﬁ'mﬁiﬂﬁﬁlﬂﬁsﬁ?@“EﬁEﬁL

15 18 20 22 25 30 35 ;

. Fmd the med:an and qua.rtlle dewatlon
N :for the follomng data : '

- P25/1540

15, 18, 20,22, 25, 30 35"

 ( Turn Over )



1 6)

“la) W«ﬁ Zﬂz— Al T TR (PMF) F

®

o)

Sl 9g T (PDF)A wice forar |
" Define probability mass function (PMF}

and probability dénsity function (PDF)
with exa.mples

B ﬁﬂ—smamw,e,ﬁﬁ’rmww 2%
Sem @ SRz R« = AImhEeE

_WW@,mimwm

(ii) T R AL (i) mﬁm TR SR
R

A bag contains 5 red ba]ls 3 blue balls
and 2 green balls. If one ball is drawn

- randomly, what is the probability that
- .it is i) red,. {ii} blue or (ifi} not. green?

o S or

'WWWW@WW

F4H

-Explain - the . concept - of _conditional

| ~ probability. with .an example.

)

P25/ -1540' :

ﬁﬁ@@ﬁ"ﬁ?@ a%f%vmwmwm
1% 551 37 ISR T 931 =W, (908
Wmﬁm?ﬁww%ﬁW| '

~ The probab1].1ty of a machine producing N
" a defective item is O-1. If 5 items are
_. selccted at ra.ndom, ﬁnd the probablhty

that exactly one is defectlve

( Continued )

Y S

(7)

5 {a) ﬁ‘mmm%?ﬁwmmqﬁ W?{W

&)

@

(b)

P25/1540

PR ? |

What is a null hyp‘othe’sis? How is it

different  from  an  alternative
- hypothesis? -

THRAPR. Type Iwwpe IIZFm"TTQﬁFI
TS |

Differentiate between Ty'pe I and Type II
errors with examples.

wYq/ Or -
Chi-square R ana‘n e W 2T
T

Explain the concept of a chi—square test
and its applications.

@Bl Y@l 100 919 By 41 =W, WE ¥ 40 9
¢l o't | Chi-square “37% 99T 91 5%

-ﬂﬂqumﬁﬁ«wmﬁsﬁwwa

{df =1 oA I+ 3-841)

A coin is tossed 100 times, and heads -
appear 40 times, Test whether ‘the coin
is fair at a 5% level of significance using
the chi-square test.

(df =1, the critical value is 3-841)

{ Turn Over )



6. (a)

{8)

TR OIS T 990wt < < |

 Explain the method of least squares in

{b)

regression .analysis,

TS ) SUPHLR 5 % T TSl (X) W

S (V) TEIRCR | X T €[S Y TRE (@97
The followirig data represents the height
(X) and weight (¥} of 5 students. Find the

- equation of the regression line of Y on X :

(@)

170
60

160
55

X . 150"
Y 1Y

180
65

190
70

| wwr/ or

'wﬁ:ﬁs R - &Gl ﬁa*ma m

R

What are the uses. of 1ndex numbers in
economic analysis? '

'TWWWWW@STW

'-Compute the Fisher’s . mdex for the -

following data :

‘6

Gicy)

Comnwdity'- S

| "o w0

; H-zce(W) : Quarntity ("fﬁm)

.'Base Year | Current Year Base Year

R | (RRw.

Current Year

(e 7y)

10 - 12 . 5. : 6

15 18 8 9

A
B
C

20

Y25 {10 - 12
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The figures in the margin indicate full marks
for the questions
1. oo A FrtrE® o fg o 1x6=6
Answer the followmg as dlrected
(a} SR S W IR I FN

The cobweb model is represented by
~using

() 2% T ?ﬁfﬁ‘f
~ first order difference equatmn _

(u) f'%%m Wﬁ ‘HWGI

S second order difference equation

P25/1541° : { Turn Over )



(B}

(2 )

(i) SN FNFT

differential equation

(iv) svae TRy T GBS T
None. of the above

(wwwﬁﬁ%@)

~ (Choose the correct answer )

'-WWWWWny@TW

IS T

The slope of an indifference curve in
case of_ two goods, x and y is

'«2:

Y _q
_(Iu)___.__ =0

P25/1541

fiv) €ITS WWW
All of the above _
(QKMW&WQT)

( Choose the correct answer )

{ Continited )

. P25/154L

(3)

o) SRR ogCE BT

State the Euler’s theorem.

(d) CES Bl o T 2908 Sead 911
Mention one property of CES productlon
function., . .

fe)
y:?&.’gg:
If
y="7Jx
() sl T ReeRRe SRTEOR G R

- Write: down the equilibrium condition -
for a discr.iminating monopolist. '

:Wﬁmgﬁrﬁm \S‘PN_E‘{CBWTW 4x2=8

Write short notes on any two of the
following : :

{a} TFEH TG
. Cobweb theorem.

(b}'{iw uﬂwﬁmﬁﬁw

- Multiproduct monopoly ﬁrm E

.-{C) W‘I @

Expansmn path

- (TurnOver) . .
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3. s @ IF @A Afafseerd 9T 9 @
e @ 15 @FERTE A Te - 249=11

'What is an indifference curve? Mathematically
prove that an indifference curve is convex to
the origin.

sre<y / Or _
T-TR TR TR CAMBPRR STl 31 | 11

Discuss the properties of Cobb-Douglas
production function.

4, T SEHHA TEAA T T AHS W
ResieRd v W T ORRAT B @
TR, =53-4Q, ¥ TR, =29 -3Q,, TF I I
e TC=20+50 'S Q=0 +Q,. SFIT B
IR SRR TetEE AT (O F Q) WF TR
qERE ™ (ARF AR,) Ffw 411 B 11

A monopolist discriminates prices between
two markets and price equations are given by
TR, = 53 -4Q, and TR, =29 -3Q,, while the
total cost function is given by TC =20 +50,
where Q = Q; +Q,. Obtain profit maximizing
output (Q; and Q,} and prices (ARyand AR5}
of first and second market. -

P25/1541 ( Continued )

P25/1541

(5)

o/ Or

T RO ARy wAh 74 T efedeTe

e g, WW%&WW{S%QW

T G
T =10-20, +le W TC, = 15160, +20,

wﬁ%wwm 50-20, (I Q= Q, +0y)

w, (@ (IS A wiE fBew cfdEe g
Wﬁmﬁe\wwnﬁf‘wﬁmﬁ@wa

‘A “monopolist produces his . product in

two different - plants and total cost
functions of the two plants are given by

76 =10-20; +Q] and TC, =15-16Q, +2Q,

If the average revenue function is given by
AR =50 -20Q, (where Q=0Q; +Q,), then find
his profit maximizing output to produce in

_the first plant and second plant and his

maximum profit.

TR e SR o W R Fo @
wE Qg =20-6F, SF Qg =—3+6PE 1 B3
ey foefr T

" Given the demand and supply functions for

cobweb»  model Q, =20-6F; ‘and
Qy =-3+6F_;  Find the time path of F.

12
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